Vectors

Notation: vectors are bold Latin characters, while real numbers are Greece.
Main properties:
at+tb=b+a, (a+tb)y+c=a+(b+c),

Oa=0,A(a+b)=rLa+rAb,(A+Wa =\a+pa

Linear independence (is similarly defined for any number of vectors):
Vectors a, b, ¢, d are called linearly independent if for any real numbers A, i, v, 1, not all of
which are zero,Aa+pb+ve+nd=0.
Or equivalently:
ha+ub+ve+tnd=0 = A=p=v=n=0.
Vectors a, b, ¢, d are called linearly dependent if there are real numbers A, p, v, n, not all of

which are zero, such that Aa+pub+ve+nd=0.
If, for example, A # 0, then a = - %b— %c— %d.

In other words:

A group of vectors are linearly dependent iff one of them can be expressed as a linear
combination of the others (with possibly zero coefficients).

In particular, any set of vectors containing zero are linearly dependent. Indeed if a = 0 then

a=0=0b+0c+0d.

A group of vectors are linearly independent iff none of them is a linear combination of the

others (with possibly zero coefficients).

The maximal number of linearly independent vectors is called the dimension. The dimension

of the plane is 2, the dimension of the space is 3.

In particular, if a, b, ¢ are independent, then any other vector r can be expressed as
r=Aat+ub+vec.

Here A, p, v are called the coordinates of r in the basis a, b, c. Similarly any 2 independent

vectors constitute a basis in the plane.



Any 2 non-parallel vectors can be used as a basis in the plane. Any 3 vectors which cannot be

put in one plane can be used as a basis in the space.
Projection of vector v on vector a: proj,v = |v| cos(angle(a, v))

Cartesian coordinates: ortogonal coordinates generated by some ortogonal unit vectors i, j, k

constituting a right-hand basis.

Notation: r, = proj;, r, = proj, r, = projr

. . 2, 2, 2112
r=riitrnjtrk |r|=0 tr, tr)

r=|r[(icosa+jcosB +kcosy),cosa=r./lr|,cos B=r,/lr,cosy=r,/r

Scalar product:
a-b = (a, b) = |a| proj,b = |b| proj,a = |a| |b| cos(angle(a, b))
Main properties:

(a, b)=(b,a),(a,b+c)=(a,b)+ (a,c),(ra,b)=2N\a,b), (a,a)= |a|2 >0

(a,b)=a.b,ta,b,+a.b,,

) = (a,ay)

a |=cosa1cosoc2+cos[31cosBercosylcosyz.
11142

cos(angle(a,,

: 2 2 2
In particular cos a+cos B +cos y=1.

Plane and straight line. Let r = (x, y, z) (or (x, y)) be a radius-vector in the space (plane).
A straight line in the plane: a;x+a,y=c or (a,r)=c, aisortogonal to the line
A plane in the space: a;x+a,y +as;z=c or (a,r)=c, aisortogonaltothe plane
A straight line in the space is given as the intersection of 2 planes:
ayxtaytayz=c
bix+by,y +byz=d
or (a,r)=c, a, b are ortogonal to the line

(b, r)=d



Vector (cross) product.

i j k

axb=l|a; a, as|, |axb|=|al||b||sinangle(a,b)|, axb is ortogonal to both a , b.
by by b

axb = - bxa

The area of the parallelogram generated by a, b equals | axb |.

Two vectors a, b are linearly independent iff axb # 0.

Triple product.
ay dp as
abc = (axb,c) = (a,bxc)= b, b, by
G & G

abc = bca = cab = - bac = - ach = - cha.
The volume of the parallelepiped generated by a, b, ¢ equals | abc |.

Three vectors a, b, c are linearly independent iff abc = 0.



